SHEITUT NTIPS
MRAESHT—AAVT(=ZT 4

[RRIE R LR (Bl 0Bt

( 202544 A WREtoBEA)
TROBYH R EE BB MESMSEN=LET,
JRA R B TR B 2967 MH/m (BiA)
BE HRES T ERERRAREHE 24.67 H/m (BiA)
RO BI-&Y2025 3 AR E REREI AOEa =50 E T,
| GEzED
TR 2 HA R 20244118 ~202541 8
~ YU EMImAE 97,420 A/t (Fik)

(b H=YHME EE DRHREL HLNG - LPGE A E & & U A M)

EAE 1y [ 4 (F3) 64090
LNG(F) LPG(F)
2024113 ~202541H 1y 97,030 96,240

b AV RRHEE O E
b % 7=YLNGF 19 {HitE < 0.9476 + b 47Ul PG HH#E X 0.0569

= 97,030 FI/tx0.9476 + 96,240 F3/tx0.0569
= 97,420 A/t(Bitk)
JREHEE R BBEOE E
b =Y RS — EE T2 RO %
= 97,420 M/t - 64,090 A/t = 33,330 F/t

= 33,300 FH/t(100mk#t#2)

[REEFAEEMmMISYRARIE DEE
BRI IEENEE — 100 x 0.0891 —(0.081 X HEFIR)
= 33,300 M/t +100x0.0891= 2967 F/mM(FiA)




